




Hardware List (Not Included)

03

Flat Washer M8
pcs.4

05

Nut M8
4 pcs.

02

Machine Screw M8 x 35
pcs.4

04

Spring Washer M8
pcs.4

How to Attach Headboard to Metal Bed Frame

01

Machine Screw M8 x 55
pcs.4

0201

01

02

05

04

03

04

01

05

03
04

05

03

02

04
05

03
04

05

03

Holes for CA King Metal Bed Frame.
(See Figure 2)

Holes for King Metal Bed Frame.
(See Figure 1)

See Figure 1 and 2




